Length and perimeter

Name:

1 Complete the following metric conversions.

(@) 7cm= mm
(t) 3kms= ]
© Hm= o
(d) 84ms= cm

2 Complete the following mettic conversions.

(a) 300mm= cm
(b) 2000m= km
{c) 150mm= cm
{d} 480cm= m

Subtract the second length from the first, giving

_your answer in the smallest unit.

(&) 4.1kmand3800m

(b} 37mmand2cm

(¢} 140 m and 3570 cm

(d) 24.1m and 7800 mm

it

3 Compilete the following metric conversions.

(a3 92ms= cm
() S6000mm= m

{(¢) Z1km= cm
(d) 6000cm = km

A Chiistmas tree is 2.06 m high. A star which
is 55 mm is placed on top of the tree. Find the
total height in centimetres.

© 4 Convert the following to the units indicated.
(@ 49miocm

(b} 1800 mm fo cm

(¢} 0.05kmiccm

(d) 58 mtomm

The trunk of a tree has been cut up to make
firewood. If there are 18 logs all measuring
57 cmin length, find the original height of the
{ree in metres.

5 Express 9000 om as:
(@) centimetres
(b) metres
(¢} kilometres.

10

On a pair of stilts, Harry the Clown is 3.2 m
tall. How tall is Harry if the stills are 85 cm
high?

6  Arrange the following in descending order:
8500 cm, 12 000 mm, 0.4 m, 1.3 km, 4000 m.




An equilateral triangle has a side length of
15 cm. Find the perimeter of the triangle.

Mike and Natalic are building a deck across the
back of their house. The fence which will
surround the deck will have three horizontal
raifs all the way around.

Fence

IIm

‘DECK 8m

HOUSE

If the deck is 8 m wide and 11 m long, find the
amouni of wood needed to make the rails of the
fence.

A square has a perimeter of 16,8 cm. Find the
length of the sides.

10

List all of the possible dimensions (in whole
numbers) for a rectangle with a perimeter of
24 m.




Lerigth and perimeter -

i g

1 Complete the following metrig conversions.
' (@ 7= mm
) 3km= 9600 m
© Mm= 1460em /
_(d) 84m= ¢%o cm/

Name: ( "Qm(mq S’P‘gdd% ﬁ-g[] UJ

2 . Complete the following metrjc conversions.
(@) 300mm=%C cm /
() 2000m= 2 km /
(© 150mm= (& cm /

@ 480cm=Up.gm [/

3 Complete the following metrjc conversions.
(@) 92m= 426 cm
(b) 56000 mm =S4m
© 21km=lUséoem

(@ 6000 cm =
(%b.égtné ke

4 Convet the following to the units,indicated,

(@ 49mioem Ly
(b) IBODmmtocm;qaog?:; /

(¢} 0.05kmtocm 56061"'! X Fooo dm
d) 5.8
(d) mtomjgw'mm/

5 ° Express 9000 mm as;
(1) centimetres QOOLM /
®) motes GG, v

() -kilomeires, O QG‘C{ hm

6 Amange the following in dcsceﬂdmg order;
@Oﬁ m

8500, 12 008 Tun, Dedm, 1,

% 2MOOm l- 3Lm %’900('?\, V2 O@ﬁn {Qgp-oéfm.

gsocem o0cm  GOOCM 13000 Toverss

‘,Jmfgamww .

Subtract the second length from the first, giving ’ !

.your answer in the smallest unit.

() - 4.1 ko and 3800 m/

260 m
(b) 37mmand 2em

(Tmm -
{¢) 140mand 3570 cm
l‘@’,‘;'; OC[\-' /

(d) 24.1 mand 7800 mm \

.

l§3000,

A Chrisfmas tree is 2,06 m high. A star which
is 55 mm is placed on lop of the iree. Find the
fotal height in centimetres.
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The trunk of a tree has been cut up to make
firewood. If there are 18 Jogs all measuring
57 cm in length, find the original height of the
free in mefres, =t .26

(264 X

',9; 5T = (02L em
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On a pair of stﬂts, Harry the Clown is 3.2 m -
tall. How tail is Harry if the ‘stilts aro 85 cm

high?




Lengtil and peximeter

Name:

{The dots are one centimetre apart,)
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1 Write a definition of *perimeter’, . ' ) N
The %‘ (i’fjﬂq (or dis Feace) Giround o‘n/o‘gjec* or
. _ L 5""‘,"‘3‘
2 Find the perimeter of the shapes below.

I
- }

3 Find the perimeter of the éhape shown below.

5T
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4  Find the peri'méter of the shape shown below.

30 mm
15Smm -

%2m m

19nm:m

[7mm

Himm

Find the perimeter of the shape shown below

5
and give your answer in cenfimetres. .
6  Find the perimeter of a ;ec.taﬁgle with length

4.3 m and width 5.2 m.,
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An equllateral triangle has a side length of
15 cm, Find the panmeter of the tnanglc
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. corcle.

£

Mike and Natalie are building a deck actoss the

back of their house. The ferice which will
surround the deck will bave three horizontal
rails all the way around.

Fenco
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Ifihe deck is 8 m wide and 11 m long, find the

amount of wood needed {0 make the rails of the

fence.
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- % Asquare has a perimeter of 16.8 cm. Find the .
- length of the sides, {G gl . 7 /67 & .
o AT
—_57'20\0 = 4 2om
10 List all of the possible dimensions {in whole . 5
numbers) for a rectangle with a perimeter of l f b
24 m.
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